SUMMATIVE ASSESSMENT -I (2011)
Gopfera wEr-I 280015
SOCIAL SCIENCE / 9Hifore fasm
Class - IX / shem—IX

Time allowed: 3 hours Maximum Marks: 90

fraiRa g : 3 g B 3 : 90

General Instructions :

(i)  The question paper has 31 questions in all. All questions are compulsory.

(i) Marks are indicated against each question.

(iii) Questions from serial number 1-10 are Multiple Choice Questions. Each
question carries one mark.

(iv) Questions from serial number 11 to 22 are 3 mark questions. Answer of these
questions should not exceed 80 words each.

(v)  Questions from serial number 23 to 30 are 5 mark questions. Answer of these
questions should not exceed 120 words each.

(vi) Question number 31 is a map question of 4 mark from Geography only. After
completion, attach the map inside your answer book.

e e

(i) S U U H el 31 WA 2| UG U S ard 7|

(ii) IS U & AT IAD b ol 8U & |

(i) T @ 1 | 10 TF GG U B | YIS U 1 3fF BT 2|

(iv) 999 991 11 9 22 % TS U 3 3fF &7 ©| 39° o TAD U HI ISk 80 Il A
3ifere el €T =Ry |

(V) U3 AT 23 ¥ 30 A6 YD U 5 3P BT 2| $9H A UAD U B SR 120 ]
¥ 3ifdre =& g AR |

(Vi) U & 31 dad e | AERE G 4 3fd BT U 2| A R IR fora &
q1& SHB! U Ik GRADI B 3G G BR G ST |

1. Which one of the following groups was not benefitted by the French Revolution ? 1

(@)

Peasants (b)  Workers
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(c) Nobility (d)  Agricultural labourers
Frefafiad o 9 ford vg ol widTE shifa 9 omw =2 gem ?

(a) fopmri (b) IR
() HEferet (wredl)  (d) @fdet Jsigl

When did the French Revolution take place ?

@) 1789 (b) 1791 (€ 1792 (d) 1874
TRIGTHT Shifd el g3 2
(@) 1789 (b) 1791 © 1792 (d) 1874

A narrow channel of sea which separates two landmasses is known as :
(@) Mound (b) Pass (c)  Strait (d) Valley
R T T HRI AN il & EUE] ol oIk il T, T Hedl © 7

() e (b) =1 () Siadfy d) =

Which is the origin of river Krishna ?

(@) Manasarovar (b) Gangotri
(© Amarkantak (d) Mahabaleshwar
FOT T T IGITH LA hiF 182

() HEEIE (b) Tt

() 3THATHIESH (d) HeTITeR

Which one of the following terms means ‘a sudden overthrow of
illegally” ?

(@) Martial Law (b) Revolution (c) Referendum (d) Coup

frefafaa § 9 forg wisg o1 o1 TRT Tk § ST TR Jared’ § 7

(a) T @ (b) I (€) SHRYW d) & IR

Who amongst the following was elected as the President of Chile in the presidential

the 1government

1
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election in 1970 ?
(@) Salvador Allende (b)  Augusto Pinochet
(c)  Michelle Bachelet (d) Lech Walesa

1970 & Trgufd & fera frafem 8, frfafea § @ @9 oo o1 agufa fFaifaa gem ar?

(a) HAER RIS (b)  FTEdT A
() T s d) W R
An introductory statement which states the vision and guiding values of the 1

constitution is called :
(@) Clause (b) Preamble
(c) Draft (d) Constitutional Amendment

Rty we o wfawm % giaEd qedi ok sauromsti sl T € 9w S €,
FEAT & ?

(@) & (b) e
(c) U=y (d) Haurfew Seed
Children between age group of 6 to 14 years are given education under : 1

(@) Purna Shiksha Abhiyan (b)  Prathmik Shiksha Abhiyan
(c)  Sarva Shiksha Abhiyan (d) Basic Shiksha Abhiyan
6 9 14 98 % g o a1 = bl FEAfafad § 9 fha e1fvmm & e fren < it 272

(a) YT frem A (b)  wfiyen e stfiem
(c) &d Tan safEm (d) g Ruan st
‘Disguised unemployment’ could be traced in which sector ? 1
(@) Mining Activity (b)  Service Sector
(c) Agriculture (d) Social Forestry
T SIS el TS STt 8 2
(a) & gadt wE (b)y Genadd
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10.

11.

12.

13.

14.

15.

© Hvaad (d) wmIfSR arfrent o

Banking is included in which type of economic sector ?

(@) Tertiary (b) Primary

(c) Secondary (d) Manufacturing
Sfeht fore WeRR o oTifeieh & § dfinfed § 2
ECRIRED (b) Wt

() Tt d) fafafo

Explain the impact of the First World War on European Society and Polity ?
T TS TE TSI R YoH favags & qumEl i SATen i |

OR
Describe the theory of Karl Marx.

I AT o TG it U hifog |

Explain why Nazi propaganda was effective in creating a hatred for the Jews

Tifceat 1 WieT agfed % faed Tt YT i § a1 STERER HY @12

OR
Mention any three main objectives of the Russian Revolutionaries.

Tl Shifenidl o el i J& 3Tl hl oot HifsY |

Why do we need a Standard Meridian ? Where is it located ? What is its significance ?

TH T TEAEIV TG kT STTvahdl i & 7 I8 hal (eI § 7 SHeR 91 Hoed § 7

Name the two island groups of India and describe any two differences between them.

R < &I 519 FHRI o 919 FAST | SHI ok o gl &1 ST’} 1 U FifST |

Mention any three characteristics of Western Coastal Plains.

et 9 e i Rl i fasiwdnedl 1 Seoia IS |

a2zSubjects.com

3x1=3

1+1+1=3

1+2=3

3x1=3
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16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

Why are the rivers considered life lines of human civilization ? Explain any three
reasons.

Tfedi sl AHe g1 &) Site W@l 6 ©9 H ] JE ST 8 7 RIS i Rl TqY hifs |

Describe three important features of Democracy.

Blehd oht A TARTSAISTi o1 aofF hifau |

3x1=3

3x1=3

State any three unfair electoral practices followed by PRI (Institutional Revolutionary 3x1=3

Party) to win elections in China.

A Siad & fae =9 ¥ PRI (F9<egeme RAcger il 9@f) g7 & 4 @ o9y als

STYATT T ?

Highlight three features of the Indian Constitution.

YR TiTe i forgl dF faemoaredi sl S9PR shifay |

Mention three farming and non - farming activities each in village Palampur.

e MAR B dH-1 $fa 1o R-Hf tfafafemi &1 seor@ it

“International organisations are undemocratic ? Justify the statement.

H AR e sTeteRdiIh B 17 3| HUF i Y i |

What is unemployment ? Distinguish between seasonal and disguised unemployment.

SUSTTRY oI & 2 WG] T8 Tl SIS | o1 37l & 2

Describe any five impacts of the the French Revolution on the World.

forea W WG &) wifd & fh=l 9" gl 1 auiF Hifsq)

What role did the French Philosophers play in the French Revolution ? Describe.

SId o QreifTehi = Wl o1 shifd T RIT YJfHeRT 37T Rl 7 UM hifIT |

Describe the effects of the Treaty of Versailles on Germany.
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3x1=3

1%2+1%2=3

1+2=3

5x1=5
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26.

27.

28.

29.

30.

31.

‘i ot wi’ o STHAT T T 9Tel IHIE! i SATEAT HiT |

OR

Explain the international consequences of the Russian Revolution ?

&Y hl shild & TSI YROTHT st SAT&AT Sife |

Explain any five causes of river water pollution. 1+4=5

TaT ST TGl & fehel Wie ROl ! AR HfTT |

Define Democracy and describe any four salient features of a democracy. 5x1=5

‘TiRa ki ARt fafeT aen saet fohdl 9IR e fomwansdi &1 auie st |

Why do we need a constitution ? Explain any five reasons. 34255

&Y Hfgem st st i § 7 fohl aie hIoll sl same iy |

How do small farmers arrange capital for farming in the village? How is it different 5
from the medium and large farmers ?

e H B¢ fham Bdt & fau gt &1 gy F8 Fd €7 9% Wi iR o et 9 feg
TR 3TeTT § 2

Describe the employment scenario in the three economic sectors in India. 5

9 ok Wi 3R &fehl H TSI o Rged & o H 0 it |

Two features (A) and (B) are marked on the given political outline map of India.  2+2=4
Identify these features with the help of the following information and write their
correct names on the lines marked on the map.
(A) A Mountain Range
(B) A River
And
Locate and label the following on the same political map of India
() Western most meridian of India.
(if) Nanda Devi Peak
RA & fU T eHifas W@mmta § 31 @& (A) @R (B) sfea fee o €)1 ffofaa
SRRl & STHR W 3= Yg-e a1 AHfas § 2Afora Y@mstl w39 w&t 9m fafau |
(A) Teid St |

(B) |
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3T
QU g 9RA o 3t TerHifasw aFtas | ffofEd @l <eiise adr 3Th
A fofay
(i) R T g qRHT SR 3@ |
(i) 1 Qe = |

31B. The following question is for the visually impaired candidates only in lieu of
Map Q. No. 31

frrefaiaa wom Shaer gfE anfua aftenfals & e wo S 31 & e Wi

(@) Name any two states of India through which the Tropic of Cancer passes
(b) Which is the Fresh Water Lake of Jammu and Kashmir ?

(c) Name the mountain range which lies south of Narmada River.

(d) Name the highest peak of the peninsular plateau.

(a) fohel <1 el o T SIaTeT o & et ek T R § |

(b) ST AT HIVER Y HIS THT 6t 30 HiH-HT § 2

© e et o <faor H feerd wea goft s Am fafew

(d) YEIEIUE TSR St Hod St =il b1 AW fafan
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Question No- 31
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